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GtE> Phidgets Attach,<{PhidgetType> <ID> T NARID> D RSN T e.g) Phidgets AttachInterfaceKit,27249

<Had> Phidgets,Detach <PhidgetType> <ID> FINA ZLID> WA IS 1=, e.g.) Phidgets Detach,InterfaceKit,27249

Accel Phidgets, In,Accel <ID> <Port>,<Data> Accelerometer<ID> D F ¥ > 1 JL<Port>D A 1 H<Data>~NEZEIELT-=. e.g.) Phidgets,In, Accel,5052,0,0.92
¥Port(30 — 2D EH (X, Y, Z&H), Datald—100.0 —— 100.00D /ML

InterfaceKit |Phidgets,In InterfaceKit,<ID>Analog,<Port>,<Data> InterfaceKit(<ID>) D7 F 0% A F<Port> hi<Datad>~EZE{LLT=. e.g.) Phidgets,In InterfaceKit,27249,Analog,0,512
¥<Port>[F0--TDEH. <Data>[F0--1024DEH

InterfaceKit |Phidgets,In InterfaceKit,<ID> Digital,<Port>,<Data> InterfaceKit<ID>DT 24 JL A F<Port> hi<Data>~EZE L L= e.g.) Phidgets In InterfaceKit,27249 Digital,0,1
¥<Port>[F0-—-TD K. <Data>(d0 or 1DEEL.

Motor Phidgets,In,Motor,<ID>,Digital,{Port>,<Data> MotorControlKID> DT 2% JL A F1<Port>hi<Datad> ~EZE{ELT-. e.g.) Phidgets,In,Motor,27895,Digital,3,1
H<Port>[F 0 —— 3D EH. <Data>(H0 or 1D

RFID Phidgets,In,RFID <ID>,<Tag> RFIDID> h\ %% <Tag> % iR L 1-. e.g.) Phidgets,In,RFID,13692,01024aafal

<Data>IF 101D XF 5 or 0. ODIZEEAT MRS HE T,

Temperature |Phidgets,In,Temperature,<ID>,<Temperature>,{AmbientTemperature>

TemperatureSensor<ID> A\ H—I X #<Temperature>, K;E<AmbientTemperature>~ZE{LL7T-.

Y¢<Themperature>&<AmbientTemperature> [ —200 —— 1600D F 4.

e.g.) Phidgets,In, Temperature,27854,35.81,29.64

Weight Phidgets,In,Weight <ID> <Weight>

WeightSensor<ID>D A 71 A< Weight> ~NEZEELT=.
X< Weight>[50.0—136.0D /N 4. (kBN EE)

e.g.) Phidgets,In,Weight,5052,52.08
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Accel Phidgets,Set,Accel <ID>, Threshold,<Port> <Data> Accelerometer<ID>DF > 1 JL<Port> DE{EZ<DatadNEZLEH T B. e.g.) Phidgets,Set,Accel,0,Threshold,0,0.1
XPort(30 —— 2DEH (X, Y, Z#h), Datald0.0 — 7.00D/NMK.

Accel Phidgets,Set,Accel <ID>,Zero,<Port> <Data> Accelerometer<ID>DF > 1 JL<Port> DX AfEZE<Datad> NELT BT 5. e.g.) Phidgets,Set,Accel,0,Zero,0,1.5
XPortld0 — 2D M (X, Y, Z8H), Datald-100.0 —— 100.00 /M.

InterfaceKit |Phidgets,Out, InterfaceKit,<ID> Digital, {Port>,<Data> InterfaceKit<ID>DT A2 JLH S<Port>%<Data>|ZEE T 5. e.g.)Phidgets,Out InterfaceKit,27249,Digital 0,1

H<Port> [F0—-TDEEEL. <Data>(d0 or 1DEEHL.

InterfaceKit |Phidgets,Set,InterfaceKit,<ID>, Threshold,<Port> <Data> InterfaceKit<ID>MD 7+ A% A H<Port> DEfEZE<DatadIZEEF 5. e.g.)Phidgets,Set,InterfaceKit,27249,Threshold,0,50
¥<Port>[F0--TDEH. <Data>[$0--1024DEH.

Motor Phidgets,Out,Motor,<ID> Velocity,{Port>,<Data> MotorControl<ID>DF > JL<Port> Dk JLH%E<Datad| ZEE T 5. e.g.)Phidgets,Out,Motor,27895,Velocity,0,100
¥<Port> (30 — 1D, Datald-100 —— 100D E 2.

Motor Phidgets,Out,Motor,<ID> Accel <Port>,<Data> MotorControlKID> D F > 2 JL<Port> D IR E Z<Datad|ZEE T 5. e.g.)Phidgets,Out,Motor,27895,Accel,0,100
X<Port>[30 —— 1DEEHY, Datald0 — 100D EH.

RFID Phidgets,Out,RFID <ID>,<Port>,<Data> RFIDKID> DT P42 JLH Fi<Port>%F<Data>(ZEE T 5. e.g.) Phidgets,Out,RFID,13692,2,1
X<Port>(F0 — 2D EH, Datald0 — 1DEH.

Servo Phidgets,Out,Servo,<ID> <Port> <Data> ServoMotorD F > 1 JL<Port> D E—RABE%<DatadIZEEJ 5. e.g.) Phidgets,Out,Servo,3633,0,230

X<Port>[30 —— 4D EH, Datald0 — 230D EH.

Temperature |Phidgets,Set, Temperature <ID>, Threshold,<Data>

TemeratureSensor<ID>DER{E%<Data>IZEE T 5.
¥<Data>[d 0 — 1600DEH.

e.g.) Phidgets,Set, Temperature,27854, Threshold,0.5

Temperature |Phidgets,Set, Temperature <ID> Threshold,<Data>

TemeratureSensor<ID>D Y OfE%<Data>IZZEEF 5.
¥<Data>[d —200 - 1600DEE.

e.g.) Phidgets,Set, Temperature,27854,Zero,—1

TextLCD Phidgets,Out, TextLCD,<ID>,{Line><Data> TextLCD<ID>M<Line>{T BIZXF5<Data>& R =Y 5. e.g) Phidgets,Out, TextL.CD,27249,1,mobiquitous.com
X<Line>lE 0 —— 1DEEH, <Datad>[F203XF LAR DASCIISCEFI.

TextLCD Phidgets,Set, TextLCD,<ID>,Contrast,<Data> TextLCDKID> DAV FS A &< DatadTEET 5. e.g.) Phidgets,Set, TextLCD,27249,Contrast,256
¥<Data>[d:0 —— 256 DEL.

TextLCD Phidgets,Set, TextLCD,<ID>,Backlight,KData> TextLCDKID> D/ Ny IS A MRAEZ R KT HAT T 5. e.g.) Phidgets,Set, TextLCD,27249 Backlight,1
¥<Data>(F0 — 1DELH.

TextLCD Phidgets,Set, TextLCD <ID>,Cursor,<Data> TextLCDKID>DH—Y ILERK/FERFT 5. e.g.) Phidgets,Set, TextLCD,27249,Cursor,0
¥<Data>(F0 —— 1DEL.

Weight Phidgets,Set,Weight,<ID>, Threshold,<Data> WeightSensor<ID> D EA{E#<Data>(CZEE T 5. e.g.) Phidgets,Set,Weight,5052, Threshold,0.1
¥ <Data>[£0.0 —— 136.00D /1§

Weight Phidgets,Set,Weight,<ID> Zero <Data> WeightSensor<ID>D+ O{EZ<Data>|ZZEE T 5. e.g.) Phidgets,Set,Weight,5052,Zero,~5.5

¥<Data>F-136.0 —— 136.00D) /M 8k




